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1HEHIGHE (1224
JE L K4 FEHFI—X ouT IN GROSS
1 NS BRIG WFETEZE 38 34 72
2 LMl IF FMRLE 38 39 77
3T JRHE Bé INEZ 38 40 78
3T KE FEAR IEERFHVMN =977 39 39 78
3T EtE fi— IERRFIN-957 37 41 78
3T EH f158 y—NIEERSF 35 43 78
T FHE FA INEZ 39 40 79
7T JIIF & P =N 40 39 79
1T Nt 12 WFETEE 40 39 79
T B 05 HFHAE 39 40 79
T IR IES IEERFHVMN =977 39 40 79
1T B 1$t y—NIEERSF 37 42 79
13T 12H A8 INES 39 41 80
13T ¥2id B8R 2o BILHE 41 39 80
13T B IEfT INRN Tl 42 38 80
13T BB Jﬁ*a% AT ELE 41 39 80
17T EXR BAR INANTY9h 41 40 81
17T TiE Ei WFEEEE 42 39 81
17T EHE IR IERRFAUMN=H77 41 40 81
20T =SRES FHRAE 42 40 82
20T TH RB— MRS 40 42 82
20T 5 %7\75& FHRAE 41 41 82
20T ZEE WFETEE 42 40 82
20T KR BX FHRAE 42 40 82
20T AR BIE INES 41 41 82
20T EO AR FMRAE 41 41 82
27T hnggk K ARER IERRFAMN=H77 40 43 83
27T Bz WFEHEE 43 40 83
27T %I IEfN IERRFAMN=H77 43 40 83
27T FA = INES 43 40 83
27T XY mE INES 40 43 83
27T ffEIEE P =N 40 43 83
27T EH TR IERRFAMN=H77 41 42 83
34T h F T 40 44 84
34T NS FMRAE 43 41 84
34T HO fiE IFERFAVMN =977 43 41 84
34T maf & At EILE 43 41 84
34T AHE— T 42 42 84
34T EHE IERRFAVM =977 42 42 84
34T gk Hig WF& B 43 41 84
34T Al = &1LGC 44 40 84
42T BN IEE AT EILE 43 42 85
42T B Z BB &g 1LGC 44 41 85
42T B S oY U NE 41 44 85
42T Z 8% IEERFAN-H77 44 41 85
42T JIIEA FH INES 40 45 85
42T KH B2 =11\ 43 42 85
42T TR 413 Ty 41 44 85
42T HH ¥5F WFE G EE 39 46 85
42T AW EX IERRFAVM =937 43 42 85
42T W J\BA g 1LGC 42 43 85
42T NG BE% WFEEEE 42 43 85
53T = 5 ARish 2o ELE 43 43 86
53T M =E TV 43 43 86
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53T B BB INKAIN 7YY 46 40 86
53T =End= N 44 42 86
53T R BHHE ENF 45 41 86
53T HA & WFETEE 41 45 86
53T Hrh $HER FMHLE 41 45 86
53T S HEMAE 45 41 86
53T FE EX ERNG 44 42 86
62T KE H5h IERRFAUMN 957 42 45 87
62T HE =22 INEZ 43 44 87
62T EFH BHE IEERFHVMN =977 41 46 87
62T WMAR FX HFHAE 41 46 87
62T N ER T 44 43 87
62T KHt B INKZ 42 45 87
62T a7 158 FMRLE 44 43 87
62T A ¥— ENF 44 43 87
62T WF E=E HFHAE 43 44 87
62T B H Mk Ty 48 39 87
62T iy & A EILE 42 45 87
62T INFHE AT EILE 46 41 87
62T #E EiE INANT Y 44 43 87
75T BB JIE— T 43 45 88
75T B Eih IERRFAUMN=H77 43 45 88
75T gt —= IERRFAUMN=H77 43 45 88
75T falg & AT ELE 48 40 88
75T £H #HF &1LGC 45 43 88
75T INEFK ZE7F] IERRFAUMN=H77 43 45 88
75T R E IEBRFAIN-H77 41 47 88
75T ] T IERRFAUMN=H77 45 43 88
75T INFR i WFETEE 40 48 88
75T R EE INES 43 45 88
85T EA & FHRAE 45 44 89
85T =8 R 2o BILE 42 47 89
85T Bl FIE WFEHEE 45 44 89
85T WE EE IERRFAMN=H77 47 42 89
85T 15 RN WFEH EE 44 45 89
85T EH R IERRFAVMN=H77 47 42 89
85T Zk B WFETEE 42 47 89
85T Z=H FlsE FMRLE 42 47 89
85T RS IEBRFAN-H77 44 45 89
94T FikF &1LGC 42 48 90
94T KB Rl WFETEE 45 45 90
94T fnggE A P =N 42 48 90
94T Jb)il & IFERFAVMN =977 43 47 90
98T [RE FA INES 46 45 91
98T AHEE AT EILE 44 47 91
98T L8 == EILF 44 47 91
98T SRS AT EILE 44 47 91
98T HH B IERRFAVM =977 47 44 91
103T it & T 48 44 92
103T B3 AEh WFETEE 45 47 92
103T WH # INANT h 49 43 92
103T RER= WFETEE 46 46 92
103T K & =N 47 45 92
108T e E =N 48 45 93
108T RHA EAH IFERFAVMN =977 42 51 93
108T KE =B IEERFAN-H77 48 45 93
108T 7= 5hBX IEERFAVN-H77 50 43 93
112T I & &1LGC 45 49 94
112T #HE = IERRFAVM =937 46 48 94
114 M Z5h FMHLE 49 46 95
115T —= BZER IERRFAVM =937 44 52 96
115T [RH XER 2o ELE 50 46 96
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117 Ay EF— WFEt E& 43 54 97
118 fic] == IERRFAUMN 957 53 47 100
119T ] EX g 1LGC 48 53 101
119T A R = L ELE 57 44 101
121 FHE1 B8 LEELE 47 55 102
e EE -t INKANT9h — - -
Ri5 INAl BE =1 - - -
Ri5 hE & IERRFAUMN 957 — - -
Ri5 Ha BE WFEZH B& - - -
Ri5 IWTF fi= HFHAE - - -
Ri5 Bi5 B T - - -
Ri5 iy R win HFHAE - - -
Ri5 1Rk B WFEZH B& - - -
Ri5 Ak BE AT EILE - - -
Ri5 HH ER INEZ - - -
Ri5 AR =i HFHAE - - -
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